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Let f{x) = ax’ + bx + c. When f(x) is
divided by (x — 1), the remainder is 10.
When f{(x) is divided by (x + 1), the
remainder is 8. Find the value of b.

Given f(x + x’l) =xt+xt then f(2) =?
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The daily wages of a man and a boy are
in the ratio 2 : 1. In a day a man has to
work 8 hours but a boy only 6 hours.
The hourly wages of a man and a boy
are in the ratiok : 2, k =7
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In the figure, AB// CD I/ EF. ACF, BCE
and BDF are straight lines.
AB=12, EF=6,CD="?
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If I+ 2°+ ... + M’ = (3M)*, find M.
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AB, AC and BC are three tangents
touching the circle at D, E and F
respectively. If AC =24, BC =18 and
£ ACB = 90°, find the radius of the
circle. 4
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The diagram shows a regular pentagon.
Find the area of the pentagon correct to
the nearest integer.
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It :’Z—g = 40320, find r.

Given ,C, = 4n, find n.

(x, p) is a point in the shaded region
(including the boundary) and x, y are
integers. Find the greatest value of 3x + y.

If % = 0.090909090909.. ., find x.

If AB=AC=12,BD:BC=1:3and
area of ABDE : area of AEDC=3:2,
find x if the length of AE = 2%

N is a natural number. Divide N! by 12.
Then divide the quotient by 12 if it is
divisible by 12. Do the same for the new

In the figure, the area of AABC is 35 cm’
and £4 =30°. ACis longer than 4B by
4cm. AC=7?

A 5 quotient and repeat the process till the c
y 2x+y-7=0 quotient is not divisible by 12. The last
s L et E quotient is 25 025. Find N.
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H E (2 +V1) " +(/3+/2) "+ ... In AABC, AP =3, 40 =6 and QC =4. Find the area of the inner square. 1 row: 2 BD is a diameter of the circle ABCD. ABCD is a trapezium with height AB =
H E S HE _ —_—\l_ . . If £LZAPQ=2ACB, PB="? 2" row: 4 6 AB=ACand £BDC =40°, LZABD =? 10 cm. The trapezium is divided into 5
It + HE’ then 1 0 ? +(J6 * (G_l)) =3,find G. 3 row: 8 10 12 regions as shown in the figure. Area of
S HE B region I is 6.3 cm” and area of region II
3 cml 5 K" row: ... 350 ... findk. is 14.7 cm’. Find the area of region IV.
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Given P(A)= 3. P(ANB) =1,

In the figure, A4BC'is a horizontal
plane and P is a point vertically above C.

Find the area of the shaded region.

Find the area of the triangle ABC,
correct to the nearest integer.

Givenl +2+ ... +(n—-1)+n+@n-1)
+...+2+1=28 find n.

(2x + 2)(x +3)(x” + 2) ~19 is divided by
(x—=1).
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In the figure, 4, B, C, D and E lie on a
circle. AC intersects BE at K.

/£ ACD = 100° and £ CDE = 130°.

If BE/l CD, £ ACB="?
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Ty v aa = > LB > M & 2 P(ANB)= 13 K=2 If /BCA=2CDB=/DCP=90°, 6 cm
and @ + bb =132, find 4" (AnB) =% T A . 5 .
tanf = 45, k=17 2 N STt
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